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How Did the Absent-Minded Professor Burn His Ear? . .0 o

Simplify the expression. Write the letter of the exercise in the box that contains the number of the answer. S ¢
p p G
En?2.-nb I N (7d)2
N (n2)5 Answers © Part 1 | H (4d2)3 Answers © Part 2
H 5 29 n’® 31 n*? | g 5 23 —64d’ 17 64d°
n2 1 —4d>
( 4) 20 n® 18 n" | ( )3 6 -64d® 30 25d'°
9\¢ 3 1 ad2)
A (nf)'n . 33 nl0 5n% | B (a) , 13 494> 10 25d°
== 2
- - 4 16 | 18 29
I (n4) 3(n4) i n n | E 8(d2)2(——2d)3 81d 81d
10 3 § =i 22 L. | el 9 32 1 12 64
E (nlo) (n_s) nl2 nlo 1 H 3d5) (d—l) 64d° d°
I(x5y4)2 I N t
Answers ¢ Part 3 ! Answers ® Part 4
2\3/ o 2.\%(2,,242
N (10x?)"(x?) 14 81y2 3 1000x%? | R (3m*) (3m*¢) 25 30m22 34 —225m7¢2
3,,8\3 4 3 3
H (-x%y°) 12 x'%®% 26 -x%y** | W (-2me)’(-2me?) 16 16m*t® 24 —225m°t°
2.\%(,2,,5 ‘ 5.2 5)\2
E (x*y)’(x*®) 2 x'2y1° 19 1000x°y° | G -m¢(15me°) 91 11 36m!4
G (9xy*) (x) 81y’ s | N (amt3)(-am=3t)°
( 94) () . - 16 x’i 4 —12;;‘ ‘ ( ) ( ) 31 27mSt* 7 27m548
T (3x°2 sy " P (5mt)? + 5m2e2
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[1234567891o11121;14151617181920212223242526272829303132n;lj




